KEYWORTH CRICKET CLUB - 1972 SEASON

President: G P Witcomb Chairman: G C Ward

Vice Presidents: Dr E Annesley, W Attewell, A Cust, A Dicks, A Ford, R Goulding, G Green,

H G Gray, G Griffin, J Hartley, D Lock, A A Middleton, J Oldham, S Pattinson, J Price, J Read, J Reeve, Dr M Russell, K A Taylor, J Tinsley, Mrs A Ward.

Gen Sec: E J C Quinton Fixture Sec: M Saunders Match Sec: N Colman Treasurer: A Copson 1st XI Captain: J Dealler Scorer: Aline Ward.

Vice Capt: A Copson. Umpire: S Armstrong.

Social Sec: D Baker. Groundsman: E Lord

Review of the Season:

The Annual General Meeting took place on 10 March 1972 at the Keyworth Village Hall. The meeting decided not to admit women into membership to the disappointment of Aline Ward.

The Club had 20 players available during the season and cash in hand of £212.08.

An approach from Widmerpool CC to merge, was rejected.

Arguments raged through the season relating to Sunday matches not being permitted on the home ground. Mr John Tinsley, Chairman of the Keyworth Parish Council and Mr Arthur Ford & Mr John Price, Chairman & Secretary respectively of the Keyworth Playing Fields Association were actively engaged in discussions with club officials. The club were also anxious to get back into a League, as all the matches played in the season continued to be friendlies.

Future player John Dring played against KCC for Notts County Officers CC Alan Copson was presented with the William Gunn Trophy for Batting.



1st XI line up...back row (left to right)...Stan Armstrong (Umpire), David Sheldon, David Baldrey, Cliff Quinton, Clive Morrissey, DerekWiles & John Baldrey. front row...Mark Lacey, Jim Dealler (capt), Alan Copson, Neil Colman & Melvyn Reed.

1 st XI FRIENDLY M	IATCH RESULTS		
29.04.1972	KINGSTON CAVALIERS	Α	Match abandoned
06.05.1972	EAST LEAKE	Η	Cancelled
07.05.1972	OLD BROCKHILLIANS	А	Lost by 33 runs
13.05.1972	HOVERINGHAM	А	Lost by 3 wkts
14.05.1972	CAR COLSTON	Α	Won by 1 wkt
20.05.1972	WESTMINSTER BANK	Η	Won by 6 wkts
27.05.1972	SUTTON BONNINGTON	Η	Draw
28.05.1972	EAST LEAKE	Α	Lost by 79 runs
03.06.1972	PLUMTREE	Η	Lost by 9 wkts
10.06.1972	SILEBY METHODISTS	Α	Match abandoned
13.06.1972	SOUTH WOLDS SCHOOL	Α	Won by 13 runs
17.06.1972	KINGSTON CAVALIERS	Η	Lost by 5 wkts
18.06.1972	GUNTHORPE	Α	Draw
24.06.1972	WHATTON & ASLOCKTON	Α	
25.06.1972	OLDS	Α	Won by 7 wkts
28.06.1972	RUSHCLIFFE MASTERS	Α	Lost by 5 wkts
01.07.1972	EAST BRIDGFORD	Η	Won by 3 wkts
04.07.1972	FAIRHAM COMPREHENSIVE SCHOOL	Α	Won by 5 wkts
16.07.1972	PLUMTREE	А	Lost by 19 runs
17.07.1972	SOUTH WOLDS SCHOOL	Η	Won by 25 runs
22.07.1972	HOVERINGHAM	Η	Draw
26.07.1972	OLD KEYWORTH XI	Η	Draw
29.07.1972	WHATTON & ASLOCKTON	Η	Lost by 4 runs
05.08.1972	WESTMINSTER BANK	А	Lost by 86 runs
12.08.1972	NOTTS COUNTY OFFICERS	Α	Lost by 5 wkts
19.08.1972	CAR COLSTON	Η	Lost by 3 wkts
26.08.1972	RADCLIFFE on Trent III	Η	Won by 9 wkts
02.09.1972	SUTTON BONNINGTON	Α	Won by 5 wkts
SALAMAN CUP (2 ⁿ			
09.05.1972	NOTTS FOREST AMATEURS	А	Lost by 36 runs

HIGHEST SCORE: 192-5 KEYWORTH v SUTTON BONINGTON (02.09.1972)

LOWEST SCORE: 31 KEYWORTH v EAST LEAKE (28.05.1972)

1st XI BATTING Averages (qualification 5 completed innings)

1 XI DATTING Averages (quanteau	Matches	Inns	Not Out	HS	Total Runs	Ave
C R MORRISSEY	10	10	1	115*	302	33.56
B H STUBBS	8	7	1	36*	159	26.50
M CRISPIN	17	14	4	44	244	24.40
A J COPSON	23	22	3	50	356	18.74
J DEALLER	19	17	1	40*	193	12.06
E J C QUINTON	19	17	3	30*	166	11.86
D SHELDON	8	7	0	27	81	11.57
N COLMAN	14	12	2	43*	114	11.40
D WILES	18	18	3	46*	170	11.33
M CREEVY	14	13	1	41	121	10.08
J BALDREY	23	22	2	33	198	9.90
M SAUNDERS	12	10	1	16	61	6.78
D BALDREY	22	17	1	23	93	5.81
W LACEY	13	11	2	25	52	5.78
J READ	11	8	1	10	33	4.71
D R V BAKER	16	11	3	12*	35	4.38
Also Batted						
B FORD	1	1	0	56	56	56.00
R CUST	2	2	1	38*	47	47.00
K RICHMOND	1	1	0	47	47	47.00
E WATSON	2	2	1	31*	37	37.00
M MUMBY	1	1	0	11	11	11.00
J PAYNE	3	2	1	4*	4	4.00
M LACEY	7	4	1	4	4	1.33
P D NOONE	4	2	0	1	2	1.00
M REED	8	6	3	2	3	1.00
B STONE	6	5	2	1*	3	1.00
G WARD	5	3	0	2	2	0.67
S ARMSTRONG	1	0	0	0	0	
S BRAIN	1	0	0	0	0	
J J H DISNEY	1	1	1	10*	10	
K HODGETT	1	0	0	0	0	
B JOHNSON	1	1	1	34*	34	
J OLDHAM	1	0	0	0	0	
A WOOD	1	0	0	0	0	
Note: includes playing for 'Old Keywo	orth XI'					

Best off the Bat...

Runs 115*	Player C R MORRISSEY		N BONNINGTON		Date 02.09.1972
52	C R MORRISSEY		ON & ASLOCKTON		24.06.1972
50	A J COPSON	SUITO	N BONINGTON		27.05.1972
Leading "6" Hitte	ers of the season				
M CRI	SPIN	12	D BALDREY	1	
B H ST	TUBBS	9	B FORD	1	
A J CC	PSON	4	B JOHNSON	1	
J DEA	LLER	3	C R MORRISSEY	1	
			D WILES	1	

Best Batting Partnerships of the Season

Wkt	Runs	Partners	Opposition	Date
1^{st}	67	A J COPSON & E J C QUINTON	WESTMINSTER BANK	20.05.1972
2^{nd}	77	D WILES & N COLMAN	RADCLIFFE on Trent III	26.08.1972
3 rd	40	A J COPSON & D SHELDON	OLDS	25.06.1972
4^{th}	68	M CREEVY & J BALDREY	NOTTS COUNTY OFFICERS	12.08.1972
5^{th}	63	C R MORRISSEY & M MUMBY	SUTTON BONINGTON	02.09.1972
6 th	74	A J COPSON & B H STUBBS	SUTTON BONINGTON	27.05.1972
7^{th}	50	R CUST & M CRISPIN	CAR COLSTON	19.08.1972
8^{th}	19	M CREEVY & M SAUNDERS	KINGSTON CAVALIERS	17.06.1972
9^{th}	41	D BAKER & W LACEY	HOVERINGHAM	22.07.1972
10^{th}	18	M CRISPIN & N COLMAN	PLUMTREE	16.07.1972

1st XI BOWLING Averages (qualification 8 wkts)

	Overs	Maidens	Runs	Wkts	Ave
D SHELDON	48.5	15	111	10	11.10
M CRISPIN	198.2	44	540	46	11.74
J BALDREY	172.3	30	528	29	18.21
J READ	82.2	20	280	15	18.67
M CREEVY	62	3	296	14	21.14
J DEALLER	53	5	221	8	27.63
Also Bowled					
K HODGETT	6	2	17	3	5.67
M LACEY	3	0	17	2	8.50
A J COPSON	14	1	64	7	9.14
R CUST	12	2	71	7	10.14
E J C QUINTON	12	3	64	5	12.80
P D NOONE	3	0	14	1	14.00
B FORD	4	1	16	1	16.00
M SAUNDERS	6	0	18	1	18.00
B H STUBBS	11.4	1	54	2	27.00
J PAYNE	5	0	31	1	31.00
G WARD	34	4	98	3	32.67
D WILES	16	1	87	2	43.50
W LACEY	11	0	55	1	55.00
B JOHNSON	3	0	16	0	
K RICHMOND	5	0	17	0	
A WOOD	2	0	18	0	

Best with the Ball...

Runs	Player	Opposition	Date
7-24	M CRISPIN	WHATTON & ASLOCKTON	24.06.1972
7-37	M CRISPIN	RADCLIFFE on Trent III	26.08.1972
7-52	M CRISPIN	EAST BRIDGFORD	01.07.1972
7-71	R CUST	SUTTON BONINGTON	02.09.1972
6-56	M CRISPIN	PLUMTREE	16.07.1972
5-40	M CRISPIN	GUNTHORPE	18.06.1972

1st XI CATCHING & STUMPING:

	Ct	St		Ct
D R V BAKER	10	2	M CRISPIN	3
N COLMAN	5	0	M REED	3
A J COPSON	5	0	J DEALLER	2
B H STUBBS	5		C R MORRISSEY	2
M SAUNDERS	4	0	M MUMBY	2
D BALDREY	3		E J C QUINTON	2
J BALDREY	3		D WILES	2

St Ct St M CREEVY 1 M LACEY 1

SINGLE WICKET Competition – 20 August 1972

Competitors D R V BAKER D BALDREY J BALDREY N COLMAN A J COPSON M CREEVY M CRISPIN J READ B STONE G WARD D WILES

WIDMERPOOL 6-aside Competition

23 August 1972 at the Widmerpool Sports Club Keyworth lost to Kinoulton in the 1st Round. (44 runs to 43 runs)